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OPENING POINT: 
The figure you found, after subtracting the total card number Of 2 longest suits on hand from 20, gives the lowest point of opening bid.

HAND DISTRIBUTION EXAMPLES
A)  4+3+3+3 - Total card number two longest suits is  7.   (20 - 7 = 13 HCP )

B)  4+4+3+2 - Total card number two longest suits is  8.   (20 - 8  = 12 HCP)

C)  5+4+2+2 - Total card number two longest suits is  9.   (20 - 9  = 11 HCP)

D)  6+4+2+1 - Total card number two longest suits is 10.  (20 -10 = 10 HCP)

E)  6+5+1+1 - Total card number two longest suits is 11.   (20 -11 =  9 HCP)

F)  7+5+1+0 - Total card number two longest suits is 12.   (20 -12 =  8 HCP)

G)  8+5+0+0 - Total card number two longest suits is 13.  (20 -13 =  7 HCP )

The similar distributions establish the opening point. The more the hand distributional, the more the importance of hand rises. To tell the distribution exactly to your Partner is an advantage in Bridge game. It indicates the contract going to be played, where to stop and when to double. In this system opening bids are artificial; they explain the hand distribution and its strength.

- Opening bids responses must be ALERTED.

1 CLUB ( C ) OPENINGS :

Requires minimum 11 HCP. It is a fairly balanced hand. This kind of hand could contain doubleton but not a singleton or void. The Clubs could be two cards. 

1 Club openings contain (11 – 17) HCP.

IMPORTANT: The balanced hands with 18+ HCP will be opened 2NT. However, if the 18th and 19th points in doubleton, it should be opened as 1 Club, because of distribution requirement (Q and J must not constitute the 18th and 19th points.)

In 2NT openings doubleton must contain A or K. Or there mustn’t be any point in doubleton.

1 club opening must be ALERTED. Because it could contain only two cards.

1 DIAMOND (D )  OPENINGS :

They are distributional hands with minimum 10HCP. There hands are very important and valuable. Because of their special distributional feature, probability of finding a game and slam is very high.
1 Diamond opening contains (10 – 17) HCP.
IMPORTANT: Distributional hands with 18+ HCP will be as 2C. However, if the 18th and 19th points in doubleton, it should be opened as 1D, because of distribution requirement.

(Q and J must not constitute the 18 th and 19 th point.)

In 1 Diamond opening, it is sure that it contains whether void or singleton.

In 1Dıamond opening, diamond could be void or singleton. 
1Dıamond opening must be ALERTED.” Diamond could be void or singleton. Distributional hand.”
1 HEART (H) - 1 SPADE (S) OPENINGS :

They are weak hands with a long suit. It should contain minimum 6 major cards with (6-9) HCP. In 1H – 1S openings hands could be distributional or balanced. Points should be in suits. They must be opened in third or fourth position or they must be used for overcalls. Before partner’s declaration it could be harmful if they are opened in first or second position.
The weak 2H – 2S openings with along suit which are used in other systems must be opened as 1H – 1S in this system. Its main advantage is to prevent transferring and also not blocking the partner as well the opponent.

It can be raised according to vulnerability position to 2 levels with 6 card suit and to 3 levels with 7 card suit, even if the partner doesn’t support.

1H – 1S openings must be ALERTED. “Hand with a long suit “

1 NO-TRUMP ( NT )  OPENINGS :

Hand with (4.3.3.3) distribution and minimum with 13 HCP. This distribution is obligatory in 1NT openings.

1NT hand contains (13 – 17) HCP. With this distribution and 18+ HCP it will be opened as 2NT.
If there are 2 pieces 10’s in the hand with 12HCP and (4.3.3.3) distribution, it can be opened 1NT in third or fourth position. Because a 10 card = 0,5 points, 2 x 0,5 = 1 point.
Totally it makes 13 HCP. Besides, these kind of balanced hands in NT contracts bring

“ Distribution advantage point “

If the responder’s hand balanced in 1NT opening, transferring can be done. However  2 C Stayman is not used. If the responder’s hand distributional then this hand accepted as valuable.
1NT openings must be ALERTED.” 13-17 HCP with balanced hand.”

2 NO-TRUMP (NT) OPENINGS:
They are balanced and semi-balanced hands with (18 – 23) HCP. With (4.3.3.3)  (4.4.3.2) – (5.4.2.2) – (5.3.3.2) – (6.3.2.2)  distributions.

Five-card and six-card suits must be majors.

Responses of partner to 2NT;
Pas with (0-3) points.

Declare 3 NT with (4-7) points,

Declare 3 Spade (S) with (8-10) points,

Declare 4 Club (C) with (11-13) points, or (with a long strong minor suit, asking the     .                                                                        Aces? Minimum 7 points)

Declare 4 Spades (S) with (14+) points and with balanced hands.

Declare 4 No-Trump (NT) with (16+) points. 4 NT asking for Aces (5C = 0 Ace,
5D = 1 Ace, 5H = 2 Aces, 5S = 3 Aces, 5NT = 4 Aces.)

Asking for Kings will be made by next declaration coming after the Ace Response. The next declaration after the King – Asking means No King
IMPORTANT: In 2NT openings, the 18th and 19th points shouldn’t be in doubleton

(J and Q). If these points are in doubleton it will be opened as (1C). 
Hands which have (7.2.2.2) distribution will be opened as ( 2C ) .

Transfers and Stayman still valid.

“Balanced hand with 18 – 23 points.” must be ALERTED.
 3 NO-TRUMP (NT)    OPENINGS 
They are balanced hands with 24 – 27 points. 24th and 25th points shouldn’t be in doubleton. If these points are in doubleton, then it will be opened as 2NT.

“Balanced hand with 24 – 27 points.” must be ALERTED.
4 NO-TRUMP (NT) OPENINGS:
They are balanced hands with 27 – 30 points. 27 th and 28 th points shouldn’t be in doubleton.
If these points are in doubleton, then it will be opened as 3NT.
“Balanced hand with 27 – 30 points.” must be ALERTED.
&&&-- 2, 3 and 4 No-Trump openings and their responds explained in following pages. &&&

2 CLUBS (C) OPENINGS:
Distributional hands with 18+ points. (18 – 23) points.

Responder shows the strength of his hand firstly. Partner’s first answers to 2C openings;
a) 2 Diamonds (D) : I have (0-3) points. Reaching a zon seems not possibl,                                 rebid your trump.
b) 2 Hearts (H)            :  I have (4-5) points. Zone seems possible, what is your trump?                                      
c) 2 Spades (S)        :  I have (6-7) points. Reaching a zone now sure. Rebid  your                                              trump.

d) 2 No-Trump (NT): I have (8-9) points. Zone sure. Could be slam. Rebid your trump.
e) 3 Clubs (C)    : I have (10 +) points Slam is sure if you are in upper                                      limit we can investigate the grand slam.

IMPORTANT: In 2C openings slam possibility is high due to distribution.

It is possible to have a major suit with 5+ cards.

18 th and 19 th points shouldn’t be in singleton or doubleton. If it is so, it must be opened as 1D.
Openings must be ALERTED. “Strong hand with 18+ points”

 4 HEARTS (H) ---- 4 SPADE (S)   OPENINGS:
These are openings with distributional hands and minimum 7 points.

They can be also opened in third or fourth seat with 8+ cards suit including one honor card or with 9+ cards suit which has no honor. In first and second seat this kind hands will be opened 

as 1D. According to responders answer jumping could be made.

Points must be in suits. Must be ALERTED. “A long strong suit”
PREEMPTIVE OPENINGS AT 3 LEVELS:
This kind of openings constrains subsequent bidders and has the chance to find a slam. They are all distributional.
1)  3C (CLUB)          : I have black color suits   (CLUB – SPADE)
2)  3D (DIAMOND) : I have red color suits       (DIAMOND – HEART)

3)  3H (HEART)       : I have major suits            (HEART – SPADE)  

4)  3S (SPADE)        : I have minor suits            (CLUB – DIAMOND)
IMPORTANT: Preemptive openings are distributional.
--- Minimum 8 points. (8 – 17)

--- Hands with 18+ points will be opened as 2C (club).

--- Include singleton and / or void surely.
--- When opening with minimum hands (8-9) points must be in trump and no (A-K-Q )

as singleton .

---Partner must respond although he has zero point.

---Distributions must be like (6-5), (7-5), (6-6), (6-4), (7-4). 
    If you have (5-5) distribution, you required minimum 10 points for 2 or 3 level      preemptive opening.
--- With same distribution and points, you will show CLUB and HEART by opening       

2 Hearts (H).

--- With same distribution and points, you will show DIAMOND and SPADE by opening 2 Spades (S). 

      Opening must be ALERTED. “2 color hand.” 

ANSWERS TO PREEMPTIVE OPENINGS :

3 CLUBS (Black color trumps )

OPENER             OPPONENT               PARTNER

3 C                        Pass or Declaration      4 C Club support and trump support.

3 C                               “     “       “             3 S Spade support and trump support.

3 C                               “     “       “             3 D I have other color suits (red color )

3 C                               “     “       “             3 NT I’am very weak. Make your preference
3 C                               “     “       “             5 C Club slam possible. I have a good hand

3 C                               “     “       “             4 S Spade slam possible I have a good hand

3 DIAMOND  (Red color trumps )

3 D                              “     “       “              4 D Diamond support and trump support

3 D                              “     “       “              3 H Heart support and trump support

3 D                              “     “       “              3 S I have other color suits ( black color )

3 D                              “     “       “              3 NT I’ am very weak make your preference
3 D                              “     “       “              5 D    Diamond slam possible.
3 D                              “     “       “              4 H    Heart  slam  possible.

3 HEART ( Major  trumps )

3 H                              “     “       “               3 S Spade support and trump support.

3 H                              “     “       “               3 NT Iam very weak make your preference
3 H                              “     “       “               4 H   Heart support and trump support

3 H                              “     “       “               4 C or 4D  I have minor trump
OPENER            OPPONENT               PARTNER
3 H                              “     “       “             5 H Heart slam possible. I have a good hand.

3 H                              “     “       “             5 S   Spade slam possible. “          “        “

3 SPADE (Minor trumps ) 

3 S                              “     “       “              3 NT  I’ am very weak make your preference
3 S                              “     “       “              4 C  Club support and trump support.

3 S                              “     “       “              4  D  Diamond support and trump support

3 S                              “     “       “              4 H  or 4 S  I have major trump

3 S                              “     “       “              5 C  Club slam possible. I have a good hand.

3 S                              “     “       “              5 D  Diamond  slam possible. “    “       “

2 HEART ( Heart  and  Club  trumps )

2 H                             “     “       “               2 S    I have other color suits ( S-D )

2 H                             “     “       “               2 NT I’ am very weak make your preference
2 H                             “     “       “               3 C   Club support and trump support

2 H                             “     “       “               3 H   Heart support and trump support

2 H                             “     “       “               5 C   Club slam possible. I have a good hand

2 H                             “     “       “               4 H   Heart slam possible.  “          “       “

2 SPADE ( Spade and Diamond  trumps )

2 S                             “      “       “              2 NT I am very weak make your preference
2 S                             “      “       “              3 C  I have other color suits ( H-C )

2 S                             “      “       “              3 D  Diamond support and trump support

2 S                             “      “       “              3 S  Spade support and trump support

2 S                             “      “       “              4 S  Spade slam possible. I have a good hand

2 S                             “      “       “              5 D  Diamond slam possible.”       “       “

IMPORTANT:
--- If opponent overcalls and if partner has no trump support with (0-7) points, must say Pass.

--- If no interference, then partner must explain his trump support and strength of his hand,

Although he has zero point.

--- Opener’s rebid must be allowed.  

--- When partner gives the respond which indicates that he has other colors and if he insists

For his trump in his second respond, then opener must say pass if he hasn’t max-points?
Racing with partner is harmful for us and helpful for opponents.

--- Before we make preemptive opening, if partner opens the game, then transfer declarations will be used.

ANSWERS   TO   1 CLUB   OPENINGS:
1 C   opening made with balanced hand (11-17) points. Club could be doubleton.

If no interference; Transfer used for valuable major suit.

OPENER                     OPPONENT                           PARTNER

1C                                 Pass                                          1D (Transfer to Heart)
1C                                 Pass                                          1H (Transfer to Spade)
IMPORTANT:
--- Responder’s transferred trump must be minimum 5 card suit or 4 card suit with two top honors.

--- Although responder has zero points, he has to transfer his 5 or 4 card suit.

--- After transferring, if responder has less than 6 points, must say pass.

--- Opener must accept the transfer in 1 level, if he has 3 cards in that suit.

--- Opener must accept the transfer in 2 levels, if he has 4 cards in that suit.

--- If opener has 2cards, then he could accept the transfer according to his hand value. If he refuses the transfer, then that means he has 5 card suit and he declares this suit.

--- If opener refuses the transfer and rebid 1NT, then his distribution could be like below:

      (4-4-3-2) doubleton shows the transferred suit card number.

      (5-3-3-2) doubleton shows the transferred suit and 5 card suit is a minor.

Responder, who knows now his partner’s distribution after 1NT rebid, he evaluates his hand and gives his declaration.

--- Openings and transfers must be ALERTED.
If   Opponent  Interfere ; 

If responder has a suit which has to be transferred, he has to realize this transfer, although opponent interferes in 3 levels. If responder has a worthless hand, less than 6 points and no suit valuable to be transferred, he says pass. Other wise it is harmful.

OPENER                 OPPONENT        PARTNER

1 C ( CLUB )            1 D                        Double   ( transfer to Heart )

1 C                            1 D                        1 Spade  ( transfer to Heart 10+ points)

1 C                            1 D                        1 Heart   ( transfer to Spade )

1 C                            1 H                        Double   ( transfer to Spade )
OPENER                 OPPONENT        PARTNER

1 C                             1 H                        1 Spade  (Heart has two controls )

1 C                             1 H                        2 Heart   (transfer to Spade 10+points)

1 C                             1 S                         Double   ( transfer to Heart )

1 C                             1 S                         1 NT      ( Spade has two controls 10+ )

1 C                             1 NT                      Double   ( transfer to Club )

1 C                             1 NT                      2 Club    ( transfer to Diamond )

1 C                             1 NT                      2 Diam.  ( transfer to Heart )

1 C                             1 NT                      2 Heart   ( transfer to Spade )

1 C                             2 C                         Double   ( transfer to Diamond ) 
1 C                             2 C                         2 Diam.  ( transfer to Heart )

1 C                             2 C                         2 Heart   ( transfer to Spade )

1 C                             2 D                         Double   ( transfer to Heart )

1 C                             2 D                         2 Heart   ( transfer to Spade )

1 C                             2 H                         Double   ( transfer to Spade )

1 C                             2 H                         2 Spade  ( Heart has two controls 10+ )

1 C                             2 S                          Double   ( transfer to Heart )

1 C                             2 S                          2 NT      ( Spade has two controls 10+)

1 C                             2 NT                       Double   ( transfer to Club )

1 C                             2 NT                       3 Club    ( transfer to Diamond )

1 C                             2 NT                       3 Diam.  ( transfer to Heart )

1 C                             2 NT                       3 Heart   ( transfer to Spade )

1 C                             3 C                          Double   ( transfer to Diamond )

1 C                             3 C                          3 Diam.  ( transfer to Heart )

1 C                             3 C                          3 Heart   ( transfer to Spade )

1 C                             3 D                          Double   ( transfer to Heart )

1 C                             3 D                          3 Heart   ( transfer to Spade )

1 C                             3 H                          Double   ( transfer to Spade )

1 C                             3 H                          3 Spade  ( Heart has two control 12+ p)

1 C                             3 S                           Double   ( transfer to Heart )

1 C                             3 S                           3 NT      ( Spade has two control 12+ p)

1 C                             3 NT                        Double   ( Balanced hand. 12+ points )

IMPORTANT:  These transfers must be ALERTED. Transfers must be made;

In one level with ( 0-7 ) points

In two levels with ( 8 – 10 ) points

In there levels with ( 10+ ) points Or  unbalanced hand with 7 points .

--- If opponent opens with 1C, then your double means same declaration and partner makes his transfer.

--- If opponent opens with 1D-1H-1S, then your 1NT means same declaration as 1C.

Transfer continues.

OPPENENT                           WE
1C                                            Double (Balanced hand which must be opened as 1C )

1D                                            1NT     (    “             “         “       “               “            “ )

1H                                            1NT     (    “             “         “       “               “            “ )

1S                                             1NT     (    “             “         “       “               “            “ )

1NT                                          Double (Balanced hand 15-17 points)
1NT                                          PAS     (Balanced hand. 11-14 points defans.)

Important: 1NT declared after opponent’s opening don’t promise a hand like (4-3-3-3)

Distribution.

---After we opened 1C, partner will wish to know opener’s trump by 2 C declaration, if he hasn’t any valuable suit but has ( 8-11 ) points.
OPENER             OPPONENT       PARTNER   

1 C                        Pass                      2 C ( I have 8-11 points. Say your trump)

                                                                                                ALERT

--- After we opened 1C, partner will declare 2 D (DİAMOND ), if he has  8+ points with (4-4), (4-5), (5-5) card  major suits. 2 D demands preference for majors from opener.

OPENER          OPPONENT           PARTNER

1C                      Pass                          2 D ( I have 8+ points. Choose one of majors)

                                                                                                ALERT

Important: When opener made his preference, partner starts the convention for Ace-Honor info. 
If no interference by opponent with ( 0-7 ) points can use the 2D declaration. If opponent made an overcall, then 8+ points required.

--- If partner ( 0-6 ) points without any transferable suit, then he will declare 1NT. If there is any interference, he will say PASS.

--- If partner has (12-15 ) points with balanced hand, he will declare 2NT. Now opener uses

“Modificated Stayman” as a respond.

OPENER                           OPPONENT                          PARTNER

1 C                                      Pass or Overcall                      2 NT

3 C                                      Pass                                         3 D, 3 H, 3 S, 3 NT

Explanation of Answers ;

3D   :   No 4 card major. Balanced hand, 4 or 5 card minor suit could be.

His distribution is (4-4-3-2), (5-4-2-2), (5-3-3-2) .

3 H    :    I have 4 or 5 card Heart, also having 4 cards Spade possible.

3 S     :    I have 4 or 5 card Spade, but no 4 card Heart.

3 NT  :    I have no 4 card major. (4-3-3-3)

IMPORTANT:  There is no transferring when  MOD-STAYMAN  used. Answers are natural. Mod-Stayman is different than the STAYMAN used for 2NT openings and 1C—2NT.

Because responder uses the Stayman for 2NT openings or transferring. Opener uses the stayman with 3C declaration after 1C—2NT. Responder’s declaration is natural.

---  In 1C opening, if responder has a minimum 6 card minor suit with (0-7) points, he declares ( 1C---3C ) or ( 1C---3D )

In this situation opener must say PASS. Because a negative hand will be an active hand. Declaration will rise to 3 Level, because responder’s minör suit at opener’s hold will be only

Doubleton, or will be one down. This is an important constrain for opponent. There is no transfer in this situation, answers are natural.

--- If responder has 6 or 7 card minor suit with (7-9) points; 
OPENER              OPPONENT                   PARTNER

1C                          Pass or overcall                3 HEART (transfer for DIAMOND)
1C                          Pass or overcall                3 SPADE (transfer for CLUB)
3H dec. Transfer for RED Minor and 3 S dec. Transfer for BLACK Minor.

Opener must accept this transfer. Because responder has a balanced strong hand. After opener accept the transfer, responder shows his controls or declares zone. If responder shows his controls, opener declares zone. (Points must be in Trump Suit).

If opener declares 3NT, responder must PASS.
These transfers must be ALERTED.

--- If responder has 7-8 card minor trump with 10+ points ;
OPENER               OPPONENT                PARTNER

1C                           Pass or overcall             4 CLUB ( Slam Demand by Club )

1C                           Pass or overcall             4 DIAMOND ( Slam Demand by Diam.)

 Opener shows his Aces and top-honors :
OPENER                  OPPONENT                PARTNER

1 C                             Pass or overcall             4 C ( Slam Demand by Club )

4D     ( no Ace , no top-honor )

4H     ( One Ace , no top-honor )

4S     ( One Ace , One top-honor )

4NT  ( Two Ace , no top-honor )

5C     ( no Ace , One top-honor )

5D     ( Two Ace and One top-honor )

5H     ( Two Ace and two top-honor )

5S     ( Three Ace , no top-honor )

5NT  ( Three Ace and One top-honor )

6C     ( Three Ace, two top-honor  or  Two Ace, Three top-honor.)

1C                              Pass or overcall              4 D ( Slam Demand by Diamond )
4H     ( no Ace , no top-honor )

4S     ( One Ace , no top-honor )

4NT  ( One Ace , one top-honor )

5C     ( Two Ace , no top-honor )

5D     ( No Ace , One  top-honor )

5H     ( Two Ace and One top-honor )

5S     ( Two Ace and Two top-honor )

5NT  ( Three Ace , no top-honor )

6C    ( Three Ace and One top-honor )

6D    ( Three Ace, two top-honor  or  Two Ace , Three top-honor.)

IMPORTANT

Trump Ace will be shown as top-honor

After getting the Ace info, responder decides the contract

Opponent will interfere by doubling. If opponent declares what you are planning to declare,

Then your doubling or redoubling means you are going to give this declaration.

Opener must rely responder’s trump.

Demander for minor slam must have his points at trump suit.

ANSWERS   TO   1 DIAMOND (D)   OPENINGS 

They are unbalanced hands with (10-17) points. Diamond could be singleton or void.

This opening must be ALERTED .

If no interference: Responder transfers his major suit, if he has it.

OPENER             OPPONENT            PARTNER

1 D                        Pass                           1 Heart ( transfer to Spade )

1 D                        Pass                           1 Spade ( transfer to Heart  )

---   Transfers could be made zero point. If opener has a singleton or void in transferred suit,

he doesn’t accept the transferring. With not accepting the transfer, he explains his distribution.

Opener declares his trump. Now responder can declare his suit, if this suit is valuable for declaration. Responder can declare his suit with (6+) points if there is no interference. If there is interference he must have (8+) points.

---   In 1D opening responder declares 1NT, if no interference, and no valuable suit with (5-6) Points. If there is interference he will say pass.

If there is interference: 

       In 1D opening, if responder has a suit valuable for transferring, he declares it although 

Opponent interferes.

In 1 level with ( 5+ ) points,

In 2 level with ( 6 – 8 ) points,

In 3 level with ( 8+ ) points. It is important that points must be in the suit.

Transfers must be ALERTED.
OPENER              OPPONENT             PARTNER

1 Diamond             1 Heart                       Double    ( transfer to Spade )

1 D                         1 H                             1Spade    ( Heart has two control )  

1 D                         1 Spade                      Double    ( transfer to Heart )

1 D                         1 S                              Double    ( Spade has two control )     

1 D                         1 NT                           Double    ( transfer to Club )

1 D                         1 NT                           2 Club     ( transfer to diamond )

1 D                         1 NT                           2 Diam.   ( transfer to Heart )

1 D                         1 NT                           2 Heart    ( transfer to Spade )

1 D                         2 Club                         Double    ( transfer to Diamond )

1 D                         2 C                              2 Diam.   ( transfer to Heart )

1 D                         2 C                              2 Heart    ( transfer to Spade )

1 D                         2 Diamond                  Double     ( transfer to Heart )

1 D                         2 D                              2 Heart     ( transfer to Spade )
OPENER              OPPONENT             PARTNER

1 D                         2 Heart                       Double     ( transfer to Spade )

1 D                         2 H                             2 Spade    ( Heart has two control )

1 D                         2 Spade                      Double     ( transfer to Heart )

1 D                         2 S                              2 NT        ( Spade has two control )

1 D                         2 NT                           Double    ( transfer to Club )

1 D                         2 NT                           3 Club     ( transfer to Diamond )

1 D                         2 NT                           3 Diam.   ( transfer to Heart )

1 D                         2 NT                           3 Heart    ( transfer to Spade )

1 D                         3 Club                         Double    ( transfer to Diamond )

1 D                         3 C                              3 Diam.   (transfer to Heart )

1 D                         3 C                              3 Heart    ( transfer to Spade )

1 D                         3 Heart                        Double    ( transfer to Spade )

1 D                         3 H                              3 Spade   ( Heart has two control )

1 D                         3 Spade                       Double    ( transfer to Heart )

1 D                         3 S                               3 NT       ( Spade has two control )

1 D                         3 NT                            Double    ( Balanced hand 12+ points.

                                                                                   If you wish you can turn it to    penalty.)

---   If opponent opens 1D, In order to explain that your hand opens 1D
OPPENENT                            WE
1D                                             Double ( I would have opened 1D )

---   If opponent opens 1major, in order to explain that your hand opens 1D
OPPENENT                            WE
1H                                             2Club ( I would have opened 1D )

1S                                              2 C     (      “         “         “        “  )

1NT                                           2 C     (      “         “         “        “  )

These declarations are made when opponent interferes or opponent’s partner says pass.

---   If responder has no suit valuable for transferring, In 1D openings; with 8+ points(8-11),

2 D declaration will be made to know opener’s suit.
OPENER               OPPONENT        PARTNER
1D                           Pass or overcall    2D ( I have 8-11 points. What is your trump?)
---   If responder has (12-15 ) balanced hand ;

He will ask opener’s trump by 2NT. Opener declares his trump in 3 Levels.
OPENER          OPPONENT          PARTNER

1 D                     Pass or overcall       2 NT ( I have 12-15 points. What is your trump?)

3 C, 3 D, 3 H, 3 S (natural trump)

---  In 1D opening, if responder has majors (4-4),(4-5),(5-5) with 8+ points; He wishes a preference  from  his  partner  by  2 C  declaration.  If opponent passes,  you can  declare  2 C with ( 0-7 ) points.
OPENER          OPPONENT           PARTNER

1 D                     Pass or overcall        2 C (Choose one of majors. I have 8+ points)
--- In 1D opening, if responder has minimum 7 card minor suit with ( 0-7 ) points and also if opponent passes ;
OPENER         OPPONENT            PARTNER

1D                     Pass or overcall         2 Heart  (transfer to Diamond )

1D                     Pass or overcall         2 Spade (transfer to Club )
Opener must accept the transfer, if he hasn’t any important distribution. Responder’s weak unbalanced hand will have strength.

---   If responder has 7 card minor suit with (8-9) points if these points are mostly in this suit;
Declares his suit in 3 levels, although opponent interferes.
OPENER         OPPONENT            PARTNER
1 D                    Pass or overcall         3 C  ( 7 card club suit with 8-9 points )

1 D                    Pass or overcall         3 D  ( 7 card Diamond suit with 8-9 points )
Opener answers according to his distribution. Decides the contract.

---   If responder has 7-8 card minor suit with (10+) points ; Responder makes his transfer in 3 level, although opponent interferes.
OPENER         OPPONENT            PARTNER
1D                     Pass or overcall         3 H  ( Zone or Slam demand in Diamond )

1D                     Pass or overcall         3 S   ( Zone or Slam demand in Club )
Responder’s points must be mostly in trump. Opener must accept this transfer unless his distribution is interesting. And he shows Ace – Honor control.
These declarations must be ALERTED.
OPENER          OPPONENT            PARTNER

1 D                     Pass or overcall         3 S (Zone or Slam demand in club)
4 C    (No Ace, no top-honor )

4 D    (One Ace, no top-honor )

4 H    (One Ace, One top-honor )

4 S     (Two Ace, no top-honor )

4 NT  (Two Ace, One top-honor )

5 C    (No Ace, One top-honor )

5 D    (Two Ace, Two top-honor )

5 H    (Three Ace, no top-honor )

5 S    (Three Ace, One top-honor )

5 NT (Three Ace, Two top-honor  or  Two Ace, Three top-honor )

1 D                    Pass or overcall          3 H ( Zone or slam demand in diamond )
4 D    (No Ace, no top-honor )

4 H    (One Ace, no top-honor )

4 S    (One Ace, One top-honor )

4 NT (Two Ace, no top-honor )

5 C    (Two Ace, One top-honor )

5 D    (No Ace, One top-honor )

5 H    (Two Ace, Two top-honor )

5 S    (Three Ace, no top-honor )

5 NT (Three Ace, One top-honor )

6 C    (Three Ace, Two top-honor  or  Two Ace, Three top-honor )

         Responder ends the declaration according to their total strength.

         Trump ace will be shown as top-honor.

         If opponent overcalls, by doubling it will be owned.

IMPORTANT: If opener doesn’t accept this transfer and says 3NT; partner must pass.

-------DECLARATION  in  4th  SEAT AFTER  OPPONENT’S  DECLARATION  -------To ( 1C,1D,1H,1S ) declarations of opponent, our pass or to ( 1D,1H,1S,1NT )
Declarations of opponent’s partner, our double means that one of us has a hand which has to be opened as 1C. If opponent who opened the game says pass in the second round, our partner transfers his suit. If opponent makes a declaration, partner declares his suit naturally with 8+ points. Less than 8 points he Pass.
OPPENENT              WE                    OPPONET’S         WE

                                                               PARTNER 

1C                                Pass                   1D                           Double (1C opening hand )

1C                                Pass                   1H                                “            “       “         “

1C                                Pass                   1S                                 “             “      “        “

1C                                Pass                   1NT                              “             “      “         “

1D                                Pass                   1H                                “             “      “         “

1D                                Pass                   1S                                 “             “      “         “

1D                                Pass                   1NT                              “             “      “         “

1H                                Pass                   1S                                 “             “       “          “

1H                                Pass                   1NT                              “             “       “          “

1S                                 Pass                   1NT                              “             “       “          “

When opponents make declaration in 1level, our declaration in 2 level shows our void or singleton and demands partner’s suit. If the partner’s first suit is singleton or void by us, he has to declare his second suit. Partner must speak although he has zero point when opponent passes. If opponent interferes, partner can pass with (0-7) points.

These declarations must be ALERTED. If opponent declared our color which indicates a void or singleton, we have to explain it as “CUEBID”. Otherwise we have to explain that as

“He shows control and demands my suit”

OPPENENT      WE          OP.PARTNER        WE
1C                       Pass          1D,1H,1S,1NT         2C,2D,2H,2S(void or singleton 13+)

1D                       Pass          1H,1S,1NT               2C,2D,2H,2S( “            “             “  )

1H                       Pass          1S,1NT                     2C,2D,2H,2S( “            “             “ )

1S                        Pass          1NT                          2C,2D,2H,2S( “            “             “ )

IMPORTANT:  No transfer is available for openings which shows void or singleton.

With hands, which could be opened as 2H (Heart and Club)-( Spade and Diamond )  

We overcall naturally after pass.

After Pass ; When Opponent Opens The Game And Receives 1NT From His Partner, Our 2 nd Declaration with (8-10 ) Points, having 2 Minor Or 2 Major Suits :

---   If opponent opens after our pass, partner also passes and opponent’s partner declares 1NT

Our double means: “partner I have (5-5), (5-4), (6-4), (4-4) minor suits, please choose one of them”

       Our 2C declaration means:” Partner I have (5-5), (5-4), (6-4), (4-4) major suits, please choose one of them “

IMPORTANT: In this situation, after having enough info about our suits defense looks more easy. Now we most probably know which card to be attacked. This is a very important constrain for opponents. Partner must declare if opponent passes what ever points he has.

If opponent makes his second declaration, then partner can pass, if he has weak hand.

These declarations (2C and Double) must be ALERTED .

SUPPOR TO 1 CLUB AND 1 DIAMOND OPENINGS, SHOWING  THE  ACE  AND  HONNORS :
      In 1C and 1D opening, major transfer must be accepted with 3 or 2 cards in 1 level, if Opponent hasn’t overcalled. Transfer must be accepted with 4+ cards in 2 levels even if the opponent interferes.
      Responder uses the convention for Ace and honor info, in 1D opening with 8+ points and in 1C opening with 10+ points. After opener’s acceptation of transfer, we ask his hand’s quality with the next following declaration.
OPENER                    OPPENENT               PARTNER
1 C                               Pass or overcall           1 D (transfer to heart )

2 H (3 or 4+ cards)      Pass                             2 S  (10+ points. What is the quality of

                                                                         Your suit and how valuable your hand)

2 NT (No honor, no Ace)
3 C   (One honor, no Ace)

3 D   (Two honor, no Ace)
3 H   (No honor, One Aces)
3 S    (No honor, Two Aces)
3 NT (One honor, One Ace)
4 C    (Two honor, One Ace)
4 D    (One honor, Two Aces)

4 H    (Two honor, Two Aces)

4 S     (No honor, Three Aces)

4 NT (One honor, Three Aces)

5 C    (Three honor, Two Ace or  Two honor, Three Ace )
Important: Trump Ace shown as honor. Top honors are; ACE – KING – QUEEN

OPENER                   OPPENENT                PARTNER

1 C                              Pass or overcall            1 H (transfer to Spade)
2 S (3or4+ cards)        Pass                              2 NT (10+ points. What is the quality of

                                                                         Your suit and how valuable your hand)

3 C   (No honor, no Ace)
3 D   (One honor, no Ace)
3 H   (Two honors, no Ace)
3 S    (No honor, One Ace)
3 NT (No honor, Two Aces)
4 C   (One honor, One Ace)
4 D   (Two honors, One Ace)
4 H   (One honor, Two Aces)
4 S    (Two honors, Two Aces)

4 NT (No honor, Three Aces)

5 C    (One honor, Three Aces)

5 D    (Three honors  & Two Aces or Two honor ( R+D) & Three Ace )
OPENER                      OPPENENT            PARTNER
1 D                                 Pass or overcall        1 S ( transfer to Heart )

2 H (3 or 4+ cards)        Pass                           2 S ( 8+ points. What is the quality of

                                                                        Your suit and how valuable your hand?)

2 NT  ( No honor, no Ace)

3 C    ( One honor, no Ace)

3 D    ( Two honors, no Ace)

3 H    ( No honor, One Ace)

3 S     ( No honor, Two Aces)

3 NT  ( One honor, One Ace)

4 C     ( Two honors, One Ace)

4 D     ( One honor, Two Aces)

4 H     ( Two honors, Two Aces)

4 S      ( No honor, Three Aces)

4 NT   ( One honor, Three Aces)

5 C      ( Three honors & Two Aces  or  Two honors (R+D) & Three Aces)
OPENER                       OPPENENT           PARTNER
1 D                                  Pass or overcall       1 H (transfer to Spade )

2 S    ( 3 or 4+ cards )     Pass                         2 NT ( 8+ points. What is the quality of

                                                                        Your suit and how valuable your hand?)
3 C    (No honor, no Ace)
3 D    (One honor, no Ace)
3 H    (Two honors, no Ace)
3 S     (No honor, One Ace)
3 NT  (No honor, Two Aces )

4 C     (One honor, One Ace)
4 D     (Two honors, One Ace)

4 H     (One honor, Two Aces)
4 S      (Two honors, Two Aces)
4 NT   (No honor, Three Aces)
5 C      (One honor, Three Aces)
5 D      (Three honors & Two Ace or Two honors (R+D) & Three Ace )

Important: Trump Ace shown as honor. Top honors are; ACE – KING – QUEEN

---   Responder gives the last declaration after he used the Ace-Honor info convention.

Opener must say pass to this declaration. Declarations must be ALERTED.
---   Responder uses the Ace-Honor info convention, because of strength.

Acceptation of transfer in 2 levels by 1c opener shows that he has 3 – 4+ cards in this suit with 13-14 points. Partner is not sure about upper limit points (15-16-17). But if responder’s hand quality is good, then he uses convention. At the end he reaches to zone or Slam.

---   Responder’s   2 C declaration to 1C opening means that he has (8-11) points and wishes to know his partner’s hand quality.
Opener declares his suit in 2 levels, if he has 14 points. Or says 2NT

Opener declares his suit in 3 levels, if he has 15-17 points. If he hasn’t a major suit with 5+ cards, then h declares his longest minor suit. In this way he explains his points and his suit.
If responder finds it appropriate, he asks the Ace question by next declaration, whenever opener answered in 3 levels.
OPENER                OPPENENT           PARTNER     
1 C                           Pass or overcall       2 C ( I have 8-11 points. What is your suit?)
3 Heart                     Pass or overcall       3 S ( How many Aces you have ? )
3 NT  ( No Ace )

4 C     ( One Ace )

4 D     ( Two Ace )

4 H     ( Three Ace )

3 Spade                     Pass or overcall        3 NT ( How many Aces you have ? )
4 C     ( No Ace )

4 D     ( One Ace )

4 H     ( Two Ace )

4 S      ( Three Ace )

POINT LIMITS FOR TRUPF DECLARATION IN  1 C  AND  1 D  OPENINGS 
In 1 level ; for opener  ( 11-12 ),  for responder  ( 0-7 )    

In 2 level ; for opener  ( 13 -14),  for responder  ( 8-9 )

In 3 level ; for opener  ( 15- 17),  for responder  ( 10-11)

&&&  PART  SCORES  ARE  THE  TENSION  OF  BRIDGE  &&&      

---   2C to 1C opening and 2D to 1D opening demands from opener to declare his suit. If opener has 5+ card suit with 2 honors and with (15-17) points, he declares his suit in 3 levels.

---   If responder freely his transfer in more than 1 level that means he has a powerful suit and 12+ points.
OPENER             OPPENENT          PARTNER
1 C                        Pass                         2 S  ( transfer to Heart. Good suit. 12+ points)

                                                              2 H ( transfer to Spade. Good suit. 12+ points)

ANSWERS TO 1 NO-TRUMP (NT)  OPENINGS
Their distribution are (4-3-3-3) with (13-17 ) points. Responder without 5+ card major suit.

---   Pas with balanced hand and      0-7    points.

---   2 NT “         “            “      “       8-10    “

---   3 S    “         “            “      “     11-13   “

---   3 NT “         “            “      “     14-15   “

---   4 C   “         “             “      “     16+      “

Opener gives the last decision. Opener shows his Aces to 4 C respond.
OPENER                   OPPENENT         PARTNER
1 NT                           Pass                        4 C (16+ points. How many Aces? )
4 D    ( No Ace )

4 H    (One Ace )

4 S     (Two Aces )

4 NT  (Three Aces)

5 C     (Four Aces)

Responder asks the kings if it is required.

Asks the Kings by next declaration. Except 4 NT.

Responder will give the last decision. To declare a slam with balanced hands is difficult.
OPENER                     OPPENENT               PARTNER
1 NT                             Pass                              4 C ( 16+ points. How many Aces? )

4 S   ( Two Ace )          Pass                                        5C ( How many Kings ? )
5 D   ( No King )

5 H   ( One King )

5 S    ( Two Kings )

5 NT ( Three Kings )

___If  Responder  Has a  Balanced  Hand  With  5+ Card  Major  Suit :

--- He transfers his major suit with 0-7 points. He will say pass in the second round.

If opponent interferes, he could repeat his suit in 3 level or transfers whenever required with 6-7 points.
--- He transfers his major suit in 2 levels with 8-10 points.

After opener’s acceptation of transfer, if opponent interferes, responder repeats his trump in 3 levels. Opener says 4 or pas according his points.

--- He transfers his major suit in 2 levels with 11+ points.

After opener’s acceptation of transfer, responder repeats his trump in 4 levels. Opener gives the last decision.
---   He uses the Texas Transfer with 15+ points. After opener’s acceptation of transfer, responder asks the Aces by next declaration. Gives the last decision according to the answers.

OPENER                             OPPENENT       PARTNER
1 NT                                             Pass             4 D (Transfer to Heart, Slam demand )  

4 H                                                Pass             4 S ( How many Aces and honors ? )

4 NT ( No Ace, No honor)

5 C    (One Ace, No honor)

5 D    (One Ace, One honor)

5 H    (No Ace, One honor)

5 S     (Two Aces, No honor)

5 NT  (Two Aces, One honor)

6 C    (Two Aces, Two honors)

6 D    (Three Aces, No honor)

6 H    (Three Aces, One honor)

6 S     (Three Aces, Two honors)
1 NT                                              Pass              4 H (Transfer to Spade, Slam demand)

4 S                                                 Pass              4 NT (How many Aces and honors?)
5 C    (No Ace, No honor)

5 D    (One Ace, No honor)

5 H    (One Ace, One honor)

5 S     (No Ace, One honor)

5 NT  (Two Aces, No honor)

6 C    (Two Aces, One honor)

6 D    (Two Aces, Two honors)

6 H    (Three Aces, No honor)

6 S     (Three Aces, One honor)

6 NT  (Three Aces, Two honors)

Important: Don’t Forget, In This System We Don’t Use 2 C Stayman With

                  (4-4), (4-5), (5-5) Major Suits.

If Responder Has  An  Unbalanced  Hand  In  1NT  Opening :

If Responder has an unbalanced hand with void or singleton,

(With 6-7 points for a hand a void)
(With 8-9 points for a hand with a singleton)
He declares 2 C. With this declaration he also asks his partner’s 4 card suit.
OPENER                   OPPONENT   PARTNER

1 NT                                Pass              2 C (Unbalanced hand, what is your 4card suit)

2 D   (4 card Diamond)

2 H   (4 card Heart)
2 S    (4 card Spade)
2 NT (4 card Club)
With these answers opener ask the suit of his partner. If responder has void or singleton in opener’s answer, declares 2 NT.
OPENER                    OPPONENT   PARTNER
1 NT                                  Pass            2 C (Unbalanced hand, what is your 4 card suit)

2 D (4-card Diamond,       Pass            2 NT (Diamond void or singleton)

3 C (What is your suit?)    Pass            3 H  (My suit: Heart )

3 C                                     Pass            3 S   (My suit: Spade )

3 C                                     Pass            3 NT(My suit: Club, You can play NT)

3 C                                     Pass            4 C   (My suit: Club Zone-Slam Demand)

OR,

____________________________________________________________________

2 D (4-card diamond,                           2 H ( My suit: Heart, min.5+ card )
        what is your suit ?)
2 D                                                        2 S  ( My suit. Spade, min.5 card)

2 D                                                        3 C  ( My suit: Club, min. 6 card)

2 D                                                        3 D  ( My suit: Diamond min.6 card)

      If opener’s 4-cards suit is not void or singleton, that means responder has found the minimum and maximum supported suits. Now he directs the game.
      If opener says 3NT after he learned his partner’s suit, responder must say Pass.

Important: The reason for transferring to balanced hand is very simple. Distributional hand must not be seen by opponents.

Hands with ( 4-4-4-1 ) Distribution

About this distribution opener must have a info. No trump opener will decide to play

No trump or not.
OPENER               OPPONENT       PARTNER

1 NT                        Pass                      2 C

2 D  ( 4-card D )      Pass                      3 NT ( Diamond singleton 4-4-4-1, 10+points)

2 H  ( 4-card H )      Pass                      3 NT ( Heart         “                “            “         )

2 S   ( 4-card S )      Pass                      3 NT ( Spade        “                “            “          )

2 NT( 4-card C )     Pass                       3 NT ( Club          “                “            “         )

If opener’s 4-cards suit is not void or singleton that means trump has been found. No way to NT. Decision is for part score or zone.
With  this  system,  going  down  in  NT  contracts  has  been  avoided.  3-card suit  in 
openers hand is singleton  in partner’s hand. Opponent’s distribution for this suit is (5-4) or (6-3) or (7-2).
This distribution is very dangerous for NT contracts.

---   In 1NT openings, responder has to say 3 C and 3 D with (0-5) points whenever he has minimum 6-card minor suit.
Responders 3 C and 3 D declaration are natural.
Opener could say 3 NT according to his Points.
Responder’s this kind of answers is to prevent NT contract.
It also constrains the opponents. 9 cards most probably in the hands of partners.
OPENER              OPPONENT       PARTNER

1NT                       Pass or overcall     3 CLUB         (0-5 points, 6-card minor suit)

                                                            3 DIAMOND (“        “        “          “       “    )

---   In 1NT openings, responder’s 2 C declaration and after opener’s 4-card suit declaration, responder asks Aces and honnors of opener.
OPENER                OPPONENT    PARTNER
1 NT                         Pass                  2 C (What is your 4-card suit?)
2 NT (4-card Club.                            3 C ( My suit Club, How many Aces and honor?)

What is your suit?)  
                                                           3 D ( “     “  Diamond   “      “       ‘‘         “       )

                                                           3 H ( “     “    Heart       “      “       ‘‘         “       )

                                                           3 S  ( “     “    Spade     “       “       ‘‘         “       )
OPENER               OPPONENT    PARTNER
1 NT                               Pass            2 C (What is your 4-card suit?)
2 D (“  “  Diamond                           2 H (My suit is Heart, How many Aces and honor)                    What is your suit?)                
                                                          2 S  ( “     “   Spade     “            “                “    )

                                                          3 C ( “      “  Club        “             “               “    )

                                                          3 D ( “      “ Diamond  “             “              “    )

-------------------------------------------------------------------------------------------------------- 

2 H ( “ “   Heart                                 2 S  ( “     “ Spade       “             “               “   )

What is your suit ?)                           3 C  ( “     “ Club         “             “               “   )

                                                           3 D ( “     “ Diamond  “             “               “   ) 

                                                           3 H ( “     “ Heart        “             “               “   )

-------------------------------------------------------------------------------------------------------- 

2 S ( “ “   Spade                                 3 C ( “      “ Club        “             “               “   )

What your suit ?)                            
                                                           3 D ( “      “ Diamond  ‘‘           “               “   )
                                                           3 H ( “      “ Heart        “            “               “   )

                                                           3 S ( “       “ Spade       “            “               “   )
After opener shows his 4-card suit ;

If responder shows his suit in 2 or 3 level and then opener has to show his Aces and honors.
If responder gives the declaration of 3 NT, 4 H or 4 S opener must pass.

Opponent’s double will not change our mind. But overcalls of opponents could be doubled.

EXAMPLE: Let’s  say Opener’s  4-card suit is 4-card  Diamond and responder has Spades.
OPENER                    OPPONENT       PARTNER
1 NT                             PASS                   2 C (what is your 4-card suit. 9+ points )
2 D (4-card D what is your suit ?)            2 S (My suit S. How many Aces and Honors)
2 NT ( no honor, no Ace )

3 C    ( One honor, no Ace )

3 D    ( Two honors, no Ace)

3 H    ( no honor, One Ace )

3 S     ( no honor, Two Aces )

3 NT  ( One honor, One Ace )    

4 C     ( Two honors, One Ace )

4 D     ( One honor, two Aces )

4H      ( Two honors, Two Aces )

4S      ( No honor, Three Aces )

4NT   ( One honor, Three Aces )

5C      (Three honors, Two Aces or Two honors, Three Aces.)

IN  2  NO-TRUMP  OPENINGS ;  MAJOR  AND  MINOR  SUITS 
---   If responder has (4-4), (4-5), (5-5) major suits, he will declare 3 C which says:

“Partner  please  choose  one  of  them.”

---   If responder has a 5+ card major suit, he transfers it to opener and than decides the last 
Contract. Responder’s Rebids, after transferring :

PAS with balanced hand and  0-4  points.

PAS with unbalanced 5-card suit 0-4 points.

4 TRUMP with unbalanced 6+ card suit and 0-4 points.

4 TRUMP with unbalanced or balanced hand and 5-8 points.
With 9+ points makes his transfer in 4 levels, than uses the Ace-Honor info convention.
---   If opener accepts the transfer, which is made in 3 levels, in 4 levels, that means he has ( 21-23 ) points and  4-card  support.
If responder has 6+ points and a strong suit, he uses the Ace-Honor info convention.
MINOR TRUMP:
If responder has 7+ card minor suit with points, he asks the Aces of opener by 4 C declaration.

Opener has to answer this question. Because 4 C declaration also shows a balanced hand with

( 11-13 ) points.
OPENER                                    OPPONENT   PARTNER
2 NT (Balanced hand.18-23po)    Pass                 4 C (Minimum 7+card minor suit. Or

                                                                                   11-13 points. How many Aces ? )

4 D    ( No Ace )

4 H    ( One Ace )

4 S    ( Two Aces )

4 NT ( Three Aces)

5 C    ( Four Aces )
If required, opener asks the kings. Except 4 NT. According to the answers 

Responder decides the contract.

ANSWERS  TO  3 NT  OPENINGS :

Balanced hands with ( 24-27 ) points.

If responder has a balanced hand with 4-6 points, he asks aces with 4 C declaration.

OPENER                       OPPONENT           PARTNER
3 NT                               Pass                          4 C ( 4-6 points. How many Aces?)
4 D     ( One Ace )

4 H     ( Two Aces)

4 S      ( Three Aces)

4 NT   ( Four Aces)
EXAMPLE: Let’s say opener has 3 Aces ; 
OPENER                       OPPONENT           PARTNER

3 NT                               Pass                          4 C ( 4-6 points. How many Aces?)

4 S    (Three Aces )        Pass                          5 C ( How many Kings ?)

5D   ( No King   )

5H   ( One King  )

5S    ( Two Kings )

5NT ( Three Kings)

6C    ( Four Kings )

IMPORTANT: Unless responder has a strong trump, NT will not be preferred. Because trump contracts with many points are sensitive against a long trumps in opponent’s hand or ruffling by opponents.

1 DIAMOND (D) OPENNINGS:
Balanced or unbalanced hands with 4 Aces.

If partner doesn’t speak; it means partner’s hand has 4 aces or maximum 1 Jack.          ( 16 to 17 Points)

Partner says his trump. No transfer.
If partner doesn’t have an important trump or good points, 2 NT must be bid. If opponent overcall, partner can pass. Opener should speak once again. 

OPENER      OPPONENT      PARTNER
2 D                    PASS               2 NT (I have no trump. 0-7 Points)

2 D                    PASS               3 NT (I have no trump. 8-11 Points)

2 D                    PASS               4 C   (I have no trump. 12+ Points)

If our partner opens the game 1C – 1D – 1NT and we have 4 aces;

OPENER      OPPONENT      PARTNER
1 C                    PASS                3 NT (I have 16+ points, what’s your trump?)

1 D                    PASS                3 NT (I have 16+ points, what’s your trump?)

1 NT                 PASS                4 C (I have 16+ points, how many aces do you have?)
After we get no aces answer, we should ask for KING.
4 D (No aces)   PASS                 4 H (How many kings do you have?)

If our partner opens the game 2 H – 2 S – 3 C – 3 D – 3 H – 3 S, we should go to zone or slam by supporting suits.

If our partner opens the game 2NT, we should directly ask (4NT) for aces. After having “no aces” answer, we should ask for Kings.

OPENER                OPPONENT       PARTNER 
2 NT ( 18+ Points)  PASS                    4 NT (How many aces do you have?)

5 C    ( No ace )       PASS                    5 D ( How many kings do you have?)
After we get king answer, 6 NT or 7 NT should be played.

2 D openings must be ALERTED. “Hand has 16+ Points”

SPECIAL THANKS

Special thanks to LEVENT GUNGOR for English translation.

----- WARNING----

This system has been written by YILMAZ KARAHAN, all rights reserved. Any part of this system can not be published without his authorization.

This system is for sale for publishing if you are interested please contact to karahan@kirimizisiyah.com.
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